50m/IN\32 754 FiE 31.27 08k
50m/\2 754 RE 30. 57 094k
50mBHRHf FE 28. 51 094k
50mBRK R 28. 36 094k
BT FERERRICSVTLERD
BTk =2 EZEELET
S 3IE 18 24 H
BRBALZI 79577 RE
= FH s

RHERA 178



K& #%E #R B Z-UP

50mBEikE FiE 35.07 06k
50mEikE R 33. 85 074k
100mEKE Fi&E 1:15.18 065Kk
100mEikE R 1:16.10 06%k

B I ERRRS
BB TikW=Z &EFEEL F
A

= FH g

RHERA L 214



E® & XN© FilE 7-UP

50mBEikE FiE 34. 48 08k
50mEikE R 35.07 074k
100mEKE Fi&E 1:15. 27 07#k
100mEikE R 1:15. 61 074k

Bt [FERERECEVTLERD
B CikW=EC EZFEELFET
M 3 1 B

= FH g

RHERA 2+ 231



K4 LA =F 3 Z-UP
50mEikE FiE 43. 53 05#%Kk
100mIEkE Fi& 1:35. 63 044K

Bt [FERERECEVTLERD
B CikW=EC EZFEELFET
M 3 1 B

= FH g

RHERA b 25



Ef HEXER EiE 7-UP
50mBRBK FE 34. 46 08k
50mBRK R 34. 05 094k
100mBHRAFE FE 1:13.59 09#k
100mBRK RE 1:12. 87 094k
B ITERRRRITEVTLERD
BTk =2 EZEELET
S 3FE 1B 24 H
BRBALZI 79577 RE
= FH s

RHERA 2 98



k&2 dtigE 5 FiE  Z-UP
50mBERBT FFE 32.75 074k
100mBEHRAFE FE 1:12.09 07#k

Bt FERERRICS VT LR
B CikW=EC EZFEELFET
M 3 1 B

= FH g

RHERA 2~ 66






